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i % |R34| 5 6 8 9 10 | 11 12 |R41| 2 3

X8 |FREHE 26 0 1 2 2 4 2 4 2 4 2 1 2
[ 3=N P o ee S 0 0 0 0 0 0 0 0 0 0 0 0 0
B8 |FrotiL (HENE) 9 1 0 0 2 0 2 1 0 0 0 2 1
KB B 35 1 1 2 4 4 4 5 2 4 2 3 3
AR |FRERE 32 2 1 5 4 2 3 6 2 0 3 2 2
iR |RbREWE 0 0 0 0 0 0 0 0 0 0 0 0 0
fiE [Tyt (HE%) 9 0 0 1 0 0 3 0 1 2 1 0 1
R |HEH% 41 2 1 6 4 2 6 6 3 2 4 2 3
PR |RERE 87 8 9 5 5 7 2 5 11 5 11 7| 12
iR |FERbEREgE 36 3 2 4 3 6 2 4 4 1 2 1 4
g |FroiL(HER) 27 2 2 3 5 1 2 1 2 0 2 3 4
iR |HEMHHK 150 13| 13| 12[ 13| 14 6| 10| 17 6| 15| 11| 20
RiE |BHEHA 51 5 5 4 3 5 2 4 3 2 1 7| 10
RiR |mbcEE 5 0 0 0 0 0 0 1 1 0 0 0 3
HiE |FvotiL(HEE) 33 2 2 1 4 2 2 5 3 0 2 6 4
RiE |HBHH 89 7 7 5 7 7 4/ 10 7 2 3| 13| 17
REE |FREHR 32 2 2 2 7 1 2 0 6 4 2 0 4
AeEE  |mRBTREME 41 5 6 2 1 3 3 2 7 5 3 1 3
REE | Rl (HENR) 14 2 1 2 3 2 0 1 1 0 0 1 1
REE |HEIHH 87 9 9 6] 11 6 5 3| 14 9 5 2 8
B |BHERA 2 0 2 0 0 0 0 0 0 0 0 0 0
B Rl E 2 0 0 1 0 0 0 1 0 0 0 0 0
B4 |FroiL (BB 0 0 0 0 0 0 0 0 0 0 0 0 0
Boh | HEMH 4 0 2 1 0 0 0 1 0 0 0 0 0
a8t |BHERA 230 17[ 20 18 21| 19| 11| 19| 24| 15 19| 17| 30
At |wkRERE 84 8 8 7 4 9 5 8| 12 6 5 2| 10
Ait | T (HEIR) 92 7 5 7| 14 5 9 8 7 2 5 12 11
Bt |HEHH 406] 32| 33 32| 39 33 25 35 43| 23] 29| 31| 51




